4= . i YR
2 0 2 04 LATETER @itm R T ST T 2P A
H & T = B 1 2 1 3 & 5 1 6 E ' B % EERAESY
£ |7TH
2 |
3 |RA
i 5]
4 |RA
5 | X
6 |7
ZRHEAITBE BE|#& |[K2 K3 K4 [K5
7 |K &£ * OO x | O
HR
£5 (€4 [£3 [£2 £1 [£6
8 |& we OOl OO
3EZHER (FR) =&k
RELEFEFFRE~25A I
9 |+ %ﬁ?( ﬁw #Vh_ ?:7 Nﬂ Nb— NRZRTB N245% fE FE =R REER F—=IK )
| | \ | \
10 | B &Biﬁfb( !‘?BR 'U'“‘/ﬁ—‘ 7":7 /\'F‘ NL— NZTB R2R5% fE FE =3 WER F—=3K )
| \ \ | \
11 | A |BEA®H EBiEED ( ETBR Yyvh— FZR NF Nb— RRH5B N2R5% fiE RE =3 REEK )
AB k1 k2 [Kk3 |[Xk4 [K5 |EFE
12 | X EBEER OO0 O |0
we
K1 [k2 [Kk3 |Kk4 [Kk5 EBE£15:00
13 | Xk * OO| O |0
105
X1 K2 |K3 |k4 |A5 [HR
14 | K xO| O |
£1 [£2 [£3 [£#4 &5 [£6
15 | & wa xO| OO
2
16 | &Biﬁiﬁl( !‘?BR 'U'“‘/ﬁ—‘ 7":7 /\'F‘ NL— NZTB R2R45% fE FE =23 WER F—=3K )
| | \ \ | \ |
17 | B WiEE ( B Yoh— F=ZR NF Nb— RZRH¥E AR5 fME FE SR REE F—=EK )
BiB|B1 A2 |[B3 A4 |AS
18 | B * xO| x| O
X1 k2 |[KR3 K4 |Xk5 [EfE
19 | X xO| OO
EfE*| 3F 6 RIFTIR
E3 = BFE Ef #HE
20 |K|1., 2FEFBBETR b * xO| OO
K1 [7k2 [K3 [Kk4 [K5
X1 |K2 |[K3 |k4 |KA5 [HR
21 | K xO| OO
HR *| 3FE 6 R TR
£1 [£2 [£3 [£#4 &5 [£6
22 | & | REEFEEEERE~26R we xO| OO
FLITHEBAR & *| 3F 6 RIF TR
23 |+ &Biﬁiﬁl( !‘?BR 'U'“‘/ﬁ—‘ 7":7 /\'F‘ NL— NZRTB R2R5% fE FE =3 WER F—=31 )
| | \ \ | \ |
24 | H WiEE ( B Yoh— F=ZR NF Nb— RZRH¥E AR5 fME FE =K REE F—=EK )
AEA1 A2 [A3 A4 A5 &AW
25 | A S xOl x| X
NI 3BEIRERIX A * |HR BERBHTHK T —ARERHE
X1 k2 |[KR3 K4 |Xk5 [EfE
26 | X xO| OO
&1 [k2 [Kk3 |Kk4 [Kk5 EBRE£15:00~
27 |k * xO| OO
X1 K2 |KX3 |k4 |KX5 [HR
28 | & xO| x| O
£1 [£2 [£3 [#4 &5 [£6
29 | & we xO| OO
2
3 |+ EBEED ( !‘?BR 'U'“‘/ﬁ—‘ 7":7 /\'F‘ NL— NZTB R2R5% fE FE =3 WER F—=3 )
| \ \ \ | \
31 | H &Biﬁiﬁl( !‘?BR 'U'“‘/ﬁ—‘ 7":7 /\'F‘ NL— NZTB R2R45% fE FE =3 WER F—=3K )
<1H®OKE 5 09EE> OnzUEk AX#EE 168
B 8:25 4IKRT
5 | 8SHR 8:25~ 8:40 BA& 12:45~ 13:05
18 8:50~ 9:40 Bk 13:05~ 13:25 43, 3% Rt 105%
£ | 258 9:50~ 10:40 58 13:30~ 14:20 N
34K 10:50~ 1:40 68BB 14:30~ 15:20 < EREEN O THRE >
4 HB 1:50~ 12:40 B 15:20~ 15:35 =1A=
JBSHR 15:40~ 15:50 BREHT 17:15

“FERET 17:30




	１月 

